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Section A

Answer one question from Section A and one question from Section B and one other
question from either Section A or Section B.

Use case studies to support your answers where appropriate.

Total for this question: 25 marks
1 Population Change

1 (a) Study Figure 1 and Figure 2 opposite.
Figure 1 is an advertisement for China’s One Child Policy.

Figure 2 shows some quotes about changes made to China’s One Child Policy in
the 1990s.

1 (a) (i) Choose two of the quotes in Figure 2 and explain why these changes to the One Child
Policy were made.

Quote number ................

(4 marks)
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Figure 1
hi&—niﬂai-'ra
Figure 2
2
Parents with no brothers People living in the
or sisters can now have countryside can now
more than one child. have more than one
child.

Ethnic minorities living

in China can now have

more than one child.

Question 1 continues on the next page
Turn over »
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1 (a) (ii) Describe one or more problem(s) that China’s One Child Policy has caused.
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1 (b) (i) Study Figure 3, giving details of a Polish migrant to the UK.

Figure 3

My name is Jerzy Bronowski.

| am 32 years old and | come
from Krakow in Poland. | came
to the UK 6 years ago to work
as a dentist in Liverpool. | share
a house with four other Polish
people. One of the menis a
bricklayer and the other is an
electrician. One of the women
works in a hotel and the other in
an architect’s office. | believe |
made the right decision to come
to the UK.

Use Figure 3 and your own knowledge to explain how economic factors can cause
people to migrate.

Question 1 continues on the next page

Turn over »
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1 (b) (i)

1 (c)

1 (c) (i)

Describe two ways in which migration within the EU can have positive effects on
countries such as the UK.

L ettt e ettt et eee e e e EEeeeeeeeee e e o neeeeteeeeeeeaaaateteeeeeeeeeaaannateeeeeeeeeaannneneeeeeennnnreeees
2 et eeeeeee e aEeeeeeeeeeeeaaseteeeeeeeeeeaaantteeeeeeeeeeaaaneetteeeeeeeaannntteeeeeeeeeaaannnraeeeeaaanns

(4 marks)
EXEA SPACE ...t et a e e e aaaaaan
Study Figures 4a, 4b and 4c on the insert.
What type of map is shown in Figures 4b and 4c¢?
Circle the correct answer.

choropleth physical topological
(1 mark)
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1 (c¢) (ii) Using Figures 4b and 4c, describe the link between annual population growth and the
number of females who are illiterate (cannot read or write).

Turn over for the next question

Turn over »
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Total for this question: 25 marks
2 Changing Urban Environments
2 (a) Study Figure 5, an isoline map of air pollution levels. The map was produced for a
GCSE Controlled Assessment investigation on traffic pollution levels in Central London.
Figure 5
é Key
Wigmore Street Cavendish F{A
D D Air pollution levels:
& Little Portland Street
X ”’D ] Y <12 Units of
Margaret Street ‘g Margar;tstreel ’__G Low ngh pO”Ution
0|
g E BT .
10 = 10 Isolines
- 12 B
Oxford Street Griord Sieat 3
Oxford
Circus; —on
3 5
Princes Street a_; ’ag
7 @ g
N
Brook Street anoter SIeE:
5
2
0 250 500m
S E—
2 (a) (i)

2 (a) (ii) Air pollution is one problem caused by high levels of road traffic in towns.

Describe the pattern of air pollution shown in Figure 5.

(2 marks)

Describe one other problem caused by high levels of road traffic in towns.

(2 marks)
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2 (b) Providing suitable housing (of the right quality/quantity) is a major issue in many urban
areas.

Explain how the need to provide suitable housing is being met in one of the following
urban areas.

CBD Inner city Suburbs

Circle the urban area chosen.

Question 2 continues on the next page

Turn over »
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2 (c) Study Figure 6 on the insert, showing information about Lagos, a city in Nigeria.

2 (c) (i) Use Figure 6 to describe how physical factors and human factors have caused a
problem of water pollution in Lagos.

PRYSICAI TACTOIS ...ttt

(4 marks)

2 (c) (ii) Describe how water pollution problems can be managed in a city such as Lagos in a
poor part of the world.

10

G/T76061/Jun12/40302H

Do not write
outside the
box



11

2 (d) (i)

What is sustainable urban living?

171

Turn over »
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Total for this question: 25 marks
3 Changing Rural Environments

3 (a) Study Figures 7a and 7b on the insert.
Figure 7a is a satellite image of part of the Amazon Basin.
Figure 7b shows the same area outlined on an atlas extract.

3 (a) (i) Which river forms the boundary between Bolivia and Brazil?

3 (a) (ii) Using Figure 7b, describe the location of the main deforested area shown in
Figure 7a.

(2 marks)

3 (a) (iii) Describe the effects of forestry and/or mining on the traditional farming of a tropical
rural area.
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Question 3 continues on the next page
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3 (b) Study Figure 8 which shows the amount of land farmed organically in the UK between
1995 and 2010.

Figure 8
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3 (b) (i) What is organic farming?

3 (b) (ii) By how much did the amount of land farmed organically increase between 1997 and
20017

............................................................ (thousands of hectares)
(1 mark)
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3 (b) (iii)

Explain the advantages and disadvantages of organic farming.

Question 3 continues on the next page

15
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3 (c) (i)

Explain two ways in which the government protects the environment in rural areas.

16
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3 (c) (i)

Study Figure 9 on the insert, showing some developments in rural areas.

Describe one or more government initiative(s) that support the economy of rural areas.

End of Section A

Turn over for Section B
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Section B

Answer one question from Section A and one question from Section B and one other
question from either Section A or Section B.

Use case studies to support your answers where appropriate.

Total for this question: 25 marks

4 The Development Gap
4 (a) Study Figure 10 on the insert, showing information about Romania, a member of the
EU.

4 (a) (i) Use Figure 10 and your own knowledge to explain how physical conditions may affect
a country’s level of development.

4 (a) (ii) Give two human factors which may explain why an EU country such as Romania is
less developed than the UK.
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2 et e e eeeeeeeeee e e e e EEeeeeeeeeeeeaaaha—eeeeeeeeeeaanaateeteeeeeeeaaannrreeeeeeeannranreaeaeenn
(2marks)
4 (a) (iii) Describe one EU policy that tries to reduce differences in levels of development within
Europe.
(4marks)
L (= IR o= To - PP
4 (b) (i) Whatis a Trading Group?
............................................................................................................................... (1mark)

4 (b) (ii) Outline one way in which Trading Groups can help poor countries get a better deal
from world trade.

(2 marks)

Question 4 continues on the next page

Turn over »
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4 (c) (i) Study Figure 11, a photograph of people building a sea dyke in Vietnam.
Oxfam provided aid for this project.

Figure 11

Use Figure 11 and your own knowledge to show how international aid can encourage
sustainable development.
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4 (c) (ii) Use a case study to describe the main features of one development project.

Turn over for the next question

Turn over »
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Total for this question: 25 marks

5 Globalisation
5 (a) Give two reasons why the control of water supply is important.

L ettt e ettt ee e e e e e eEeeeeeeee e e e e naaeteeeeeeeeaaanteteteeeeeeeaaanneteeeeeeeeeaaannnnneeeeeeannnreeees

2 e eeeeeeeeee e e e e aEeeeeeeeeeeeaaaaateeeeeeeeeeaananteneeeeeeeaaaannteeeteeeeannnnaneeeeaaens

(2 marks)
5 (b) Study Figure 12, a map of a water control scheme on the Rivers Tigris and Euphrates.
Figure 12
Black Sea

Turkey
Ataturk Dam
<<
Tabagah Dam |
Mediterranean /
Sea
Key
== Dam
"""" Political
boundary
. 0
~— Rivers

Suggest two reasons why there is a possibility of conflict because of the development
of this water control scheme in this part of the Middle East.
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2 e eeeeeeeeee e e e e aEe—eeeeeeeeeaaa—e—eeeeeeeeeeaanaeteteeeeeeeeaaannreeteeeeeennnnanneaeaaenn

(4 marks)
EXEA SPACE ...t e e e e e e aaaaaan

5 (c) Explain why trying to increase the amount of food produced in the world may have

environmental disadvantages.

(4 marks)
EXEA SPACE ...t a e e e aaaaaan

Question 5 continues on the next page
Turn over »
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5 (d) Study Figure 13 which shows how the share of world manufacturing production
changed between 1970 and 2010.

Figure 13
100 1+ -
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70-5 N Key
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World | H
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5 (d) (i) Describe the changes that have happened between 1970 and 2010.

(3 marks)
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5 (d) (ii) Study Figure 14 which shows recent industrial growth in China.

Figure 14

0

Key
Special economic zones Major economic growth regions o Open cities
H Xiamen 6@ South Coast e Main cities
::Z:tz?:en 70 T_aiwa_n Straits e Chinese border
1 zhuhai 8@ Liaoning S Other international
9@ Yangtze river valley border

H Hainan Island

Use Figure 14 and your own knowledge to explain the growth of industry in modern
China.

(4 marks)
Question 5 continues on the next page

Turn over »
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5 (e)

Describe the features of a named TNC.

2 6
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Total for this question: 25 marks
6 Tourism

6 (a) (i) In 2009, 100 million tourists visited the ten most popular tourist cities.

Study Figure 15 which shows the percentage share of the ten most popular cities
visited by tourists in 2009.

Figure 15

90 10 Key

[[1]] Paris

E= London

80 20 | [] Bangkok

= Singapore

[ ] New York
I Hong Kong
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Shanghai
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60 40 Il Rome

50

What percentage of tourists visited London in 20097

............................................................. %
(1 mark)
6 (a) (ii) Outline why some cities attract many tourists.
(2 marks)
Question 6 continues on the next page
Turn over »
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6 (b) Study on the insert EITHER Figure 16a, a photograph of a coastal resort,
OR Figure 16b, a photograph of a location in a National Park.

Figures 17a and 17b are black and white copies of Figures 16a and 16b.

On EITHER Figure 17a OR Figure 17b, label one physical feature and one
human feature tourists would visit the area to see.

Figure 17a

Figure 17b

(2 marks)
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6 (c) (i) Study Figure 18, the tourist area or resort life cycle model.

Figure 18
Rejuvenation
Stagnation'ss::::\""~ Stabilisation
Consolidation - Decline
Number
of visitors
Development
Involvement
Exploration
Time —»
Give two features of the Development stage of the model.
ettt e ettt e ettt et e e e e e oo E e e e et eeee e e e e na e et e eeee et e e e nEeteeeeeee e e e e nnaaee e e e e e nnnreeees
SRR
(2 marks)
Question 6 continues on the next page
Turn over »
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6 (c) (ii) For a tourist area in the UK you have studied, identify the stage reached in the tourist
area or resort life cycle model. Give reason(s) for your answer.
Lo 10T A= == T3 (0 T 1= PSPPSR
Stage of the model reached ...
Reason(S) fOr YOUI @NSWET ......ccooiiiiiiiieie e
(4 marks)
EXEA SPACE ...t a e e et aaaaaan
6 (d) Study Figure 19 on the insert, showing tourist arrivals to the islands of the Caribbean.
6 (d) (i) Describe the pattern of tourist arrivals in the Caribbean as shown in Figure 19.
(2 marks)

G/T76061/Jun12/40302H
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6 (d) (ii)) Use a case study to explain why an area in the tropics attracts a large number of
tourists.

Question 6 continues on the next page

Turn over »
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6 (e) Describe the negative economic effects of mass tourism.

END OF QUESTIONS
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